Assembly Instruction

Monteringsanvisning | Montageanleitungen

HE N
HEE ZahN

Article Number: 6994-076
Description: Peter Little John Sofa - Nature/Black

N|

@ @venturehomese Do not tighten screws until all Venture : \\A\%
@venture.design screws have been assembled! home * ™ -

“n



www.venturehome.se www.venturedesign.se

No. Qty. No. Qty.
1 1 1999-4335 | A 5
M6 x 40
-
2 ’ 1999-4335 | B Q) 5
M6 x 60
No C = 4
M6 x 13
3 2
-
1999-4335 | D O 2
M6 x 80
4 - No E N 1
M4 x 60
Step 1:
@ @venturehomese Do not tighten screws until all Venture : Q\\A\%
@venture.design screws have been assembled! home °, "™~

“ainat



www.venturehome.se ‘vvvvvv.venturedesign.se

Step 2:

Step 3:

N|

@ @venturehomese Do not tighten screws until all Venture : \\A\%
@venture.design screws have been assembled! home * ™ -



www.venturehome.se ‘vvvvvv.venturedesign.se

Step 4:

=

\\

L

\

¢ u,/,///
W

-

@ @venturehomese Do not tighten screws until all Venture : \\A\%
@venture.design screws have been assembled! home * ™ -



	Slide 1
	Slide 2
	Slide 3

